Foundations of Math 9 Updated May 2019

Final Exam Review Pack — Section 1

Key Points

! e Converting from a decimal to a fraction is simply division of the ratio
. o Equivalence is multiplying a fraction by 1, represented as any other number divided by itself
. o Comparing fractions is easiest when you have a common denominator

e Adding and Subtracting a fraction requires a common denominator

¢ Multiplying is top with top, bottom with bottom, simplify first

o Division, flip the second fraction, simplify, then multiply

e Always convert to improper fractions when necessary, before doing operations with fractions

_______________________________________________________________________________________________________________________________________________

Execute the following operations by displaying diagrams of the situation

1. 7+ (-3) S
L4 Y &
= 45 v 7

2 (=D H(=5) =7

'"7 ) gy "3 -2
(- -~ ()
3.-’6 ( 4) ‘.L_} B G 7 4

Add the following Integers without a calculator

s 1454 27 ) s 12F=S) )

VI Gy = B N P ) P ==
10, -10 + 54+ (=6) oI T (R 19 O

—_—

12. —13 4+ (=8) + 10 —1 1 T —17+ 134 (=15) — 1"
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Subtract the following Integers without a calculator

14. —18 — 5 —23 |15 18-12 lo
P e T T 9E (13 o2
18 —1— 18-%%('%10) 19. —12 35343) -3 — /2
20. 7 -—:(/—47)1—:(—8) 2 T -1 '_:\“'1(?_;:15)-‘._35(43) 7
22. —4 — (7),_:—'(_“‘9) ---------- 23. —21-:{-'_:?(_;'-17) -4 '_?;_
Add and Subtract the following decirfnal integers without a calculator
24. ~4.12 + 1.64 "{--'giff.?) 25, —5.435 + (~3.638) -9,073
| 7.8
6 412 164 TSR T, —';_5-‘2‘.*%'55(;\3-638) """"""" [.797
5
28. sz =1=16) N 7778 7123+ (-16) —X. 72 =
< 773

Multiply and Divide the following integers without a calculator

30. —6 8 -4 31. —6 % (—8) K

32. 2% (—5) 33, —4 %3 -

3. 4x—3x—6 "/ 35. 4% (3) * —6 = 7.2
36, 10 % 7 * (—12) — SO P37 4% (=7)x12 —33C

38. —40 + (—=8) i & 39. =72+ 12 -
a0, =132 = 3 —J9 a1 =200 + 4 -50

42. =70 = =2 (—1) T —38 a3 28+ (4)+(-3) T ==

4a. —56 + (8) * (—6) ST s 720 = 23w (23) TTEET
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Convert the following two fractions to decimals, show all the division steps

6 2
46. — 47, —
7 ) .} 9 0.2172
< | 2.00
8]
7.0
18
la
20
B
Lo
Convert the following fractions t{e&uivalent fractions with the given denominator
C= 7 o v ey
3 4 2 12 2
48.—2-1—?5 49..:7'-*:—? 50—=7—
4 24 3 12 15 90
q k//ﬁ ~7
Xb mXRY < ”
4_.‘ ........ 1 .—H( 6 = r 30
51, &< = —— 5. — = — — 53, — = —
5\_/‘1"3 7\ 7777 7 35
27 il ¥
g3 5 49
12 3 9" a1 2 (¥
54, — = — 55, — = — 56, == & wmin—
13 39 11 33 9. 81
3 ¥3 *
F ¢ 2
14 70 18% 9o 577 40
57—=E 58.7=£ 59g=6—4
ef - %3

Compare the following fractions using <, >, =. Justify your reasoning

2 ,5 1 26 | 6 7
60. =& 2 61. — = — 162. —= ) ——
3 6 2 52 i/ > 8
Y ]
b z HE 49
% %
4,17 2_ 2 11 _ 10
63. — & — 64, — = = 65. — > —
15 60 3 3 13 7 12
e
de | I T<e
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4 ,5 6 13 7 o 5
66.7<§ 67. -~ = 68—7;
22 }{ ‘1?- 4
P 3
7t s A £
Convert the following fractions from MIXED to IMPROPER or VICE VERSA
2 1 1 4 34
69. —3;—) ".Zg?_ {70. 4Z_> l?_ 71. 65_) e
7 i Y S
3x7+2 U{KQ{{’@ QFS“'%
E 5 ......-.--.....--.'%..
72 5—=— LT 73 —2=> -~ (D 74 4= Cl)
[ | - (o
75 = - ! 76 — = 3 n—2 A 4
78 - { 79 —> ! 80 = -
- = - 4 - T — 2.-—
5f L# | = 5 1o
Simplify the following fractions
247 60 230 12
81.%—> 2 !82.;0—> L sa.ﬁ %ﬁ“*i‘ 84.5—'}'{?
St 5 I ul P v =
15 A S— R wa— 11 -
B, —— > -5 g — 2 L g 2 8. == > L
21 5 60 < 27 [ 7 A 88 g
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Add the following fractions, leave answers in simplified form

! b L 7
89.§+E S 9O'E+1_5 s g ¢
‘L‘g;“”g’, = /ZJ—:Z;
(S IS (S g
22 —1
91§'|‘E Z 1 92.—Z+E’—‘l—— Ji
7 21 4 4 "ﬂ _Zz
2
pai
=+ /2 A 5e7,
CER o LA + - / 7
5 36
/-b/f’/ffi ,L{/i iﬂfﬁ
(5 (5 5 ?V{
fl. gdi
95.i+Z Y2 s 3§+5§ ==
(¥ . 0O
2 4 '3
D ,
My 35 I
| !
97. 3 = + 7E /35 98. —3E + 2 > "Ig;”?”/
7 5 E— 8 6
Pl T 7 _
A ¢ ;gf 740
7q 2 b
I 4
7 ‘;,‘? = _?,L i
%{4 7 742
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Subtract the following fractions, leave answers in simplified form

3

Z —_ i (o] i mm a 11"'9
® T3 0. = 114
1o,
(Y
""""" 3 5 By ik =3/,
101, — — — “@% G, ——='—== Jg"
8 11 17 2
33 Yo - -
77133 24 34
103. ER ¥7r";‘i 7 104, —2 e 4 : -3
4 6 7 3
£ -t _ B
4g -~ AL
21 2
105. 5 g — 2 g W5 106, —2 Z — g =5 I/ff/
LA | 12
. i g
BT P
¢ 2

Perform the combined operations, leave answers as an improper fraction in simplified form

107. l-I-E—E 6/“#
4 6 3 =
2 LL,E ;‘;:;;‘-""

(e 1z (* o

17)

=29 78 |7
— 4+ — 1
9 s

3 2 =% 2
108. —2;5- + 4§C:(>1E

¥

11

Lr.g/
-

5
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y 2
4 13 5 3/ 2 K e
109. 5-+3——7— 2 110—2-+4-(F7- 12
\LS 26 10 3 )
b L
X A _ = - q (g _i;?-
53+ 3% # 9737 %
o/ 1770
q — 7 Za Zz Zz 12 12 12
Multiply the following, simplify before you multiply if desired, leave answer in simplified form
1 w4y \ 5 vy E Ty =l
111. .Z*— < 3 112. _E*—Z’ ~ v 12
| P Ha
g g 2 1630 3
113, — * £ 3 2 114, — % — % — 4y /28
28 3 3 25 % 1 2% -
g 51183 | ‘ LRI l
1 15. 35 - =1y
15, — * (——) * = , 116, LW 1 /3
14 ,,/5/ 1 = 2% 21’9\1 Y
S U
— " ’:‘;‘::- * .-—a'——‘-_,
, Al A

Divide the following fractions, simplify when you can, leave answer in simplified form

2.8 3, 3,21 ‘“4’/7
. =335 C 118, —— -+ —
3 9 - 4 24
’{g—xls pd4 'ié’(ﬂt L
[ 3 ‘? (// Lf Q‘( ".?_w-k."‘l‘! 7
12 | 2-;'5 12 S/
19. — + 6 | 120, 2+ — (£
5 15
™ 2 Lg% £
S X%y \VUVlka z
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|

— 2 a s, e L
L 121, 8L 7 { 122. 27 5 {
; Ml
03y 97 A ftf?h ﬁ -1
Fut X pa = ==
L
SR VT 3 »” 1
o 12 | 36 ~5/ 343 7 49/
— e e et T g g
123 T /3 124. TR [d
’L )L '#2’ Y 3“[32: L "(7 /3
l-] 2% 5 ‘7 F ‘J',-',;;t;ﬁ
‘2%
Answer the following, leave answer as a simplified fraction, improper if applicable
125. 4; * —3l / 5 126. 4--;— = 3% 20
- > -t
}? /@ R 7 _2 _ 27
? ;7 — X .=
2 7 lo 2o
2 —_ ; =36/
127. —2 - * 4% §Z g 1128, —2 % = 4§ sf'éf
iT Xﬁi~§2, ”in—‘%
S b5
3 1 2 G 1 7 1 13
129. ZZ+5§*3£ 025 130. 2—+—2——*5— 26
. X* 12 'si _Wuff 41 -123
l ~
22 °
0 16
(5 > o 2.
ok
15% B
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131. 8+5 %3 132, 254 +6%4
Z g+ 1S =8 +24
= 273 = 32
138} 5«3 —-4%7 5134. 15-12+-6-2
=15 -2% | =|5-2-1L
=13 =i
13, 15+5-24-+8 136, 25-30+-6-5
=5-75 = 2£-5-5
- = /5
137. T 11-8-34+2 138, —5x12-7-2
Zjr-8-17 Z o - 7%
Calculate the following using your Order of Operations
139. 9 — (4= (—4)) 140. (12-2)+7
— % -
= 41 ) 20 ¢T
=25 =7
141. -9—-(12-5) 142. (-11-8)-2
= -9- (_'7) = —[9-2
e = -al
143, —-(12-5+2-7) 144. 200 + (10 +5)
= - (HE&DBS) 2 900 (2)
= -7-5 =« = /60
145, (128+8)+~4 146. 5«12 —(7+7)+ -2

()=
=4

Tox-WEiE
MRS
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147. 233 148, (5*1)3
. - 3
“Ax] =5
= 54 =25
149. —11 - 32 150. (=7 — 3)?
= —((-9 = (-ie6)*
- 20 =160
151. 2%+ 22 % 2%+ 23 152. (2% =22« (2% = 23).
TleEdx |l 8 :@;‘,eq)x(uoea?,?:g
=g = Ywz 7
6+ 44 (6-2)(4)
153. 154, ——
10+3%4 (12-8)(4)
= bt il = Hxd
Jo+ (2 HeH
A
G| =
Simplify the following using your Order of Operations
.4
155. =13+ 2[(24—8) — (2 + 3%)] (2)3+32
156. —
= =13+ 2106y~ () 35-5%-3+6
13+ 2[s5) ;?,i_i,
:/[3+ (0 BS-’LS"‘IQ
= 11
P 3 ,g
157.  20+4+{3*3*-[-34+(6-3)]} | 2—24
| 158. et
< 54 §540- [ 3 R
_ = 2-10
- 4 §3x1-0% el
. @)t 2
-9 f
- —14
= 2 St
= ——1"@

2



